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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.

Section 'B' consists of short-answer-type questions and Section 'C'

consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two

sentences.     (1x10=10)

ç'u 1- izca/kdh; ys[kk fof/k ds nks eq[; mís'; crkb;s A
Write two main objectives of Management Accounting.

ç'u 2- 'kq) lapkyu ykHk vuqikr dk lw= fyf[k, A
Write formula of  Net operating profit ratio.

ç'u 3- dks"k izokg fooj.k dk vk'k; D;k gSa \
What is meant by of fund flow statement?

ç'u 4- lapkyu ls jksdM+ fdls dgrs gSa \
What is called cash from operation?

ç'u 5- lhekar ykxr fof/k esa mRikn ykxr dk vFkZ D;k gS \
What is the meaning of product cost in marginal costing?

fuEufyf[kr fooj.kksa dh x.kuk dhft, %
Calculate the following variances :

lkexzh ykxr fopj.k Material Cost Variance

lkexzh ewY; fopj.k Material Price Variance

lkexzh iz;ksx fopj.k Material Usage Variance

lkexzh feJ.k fopj.k Material Mix Variance

ç'u 5- jksdM+ ctV rS;kj djus dh fofHké jhfr;ksa dk o.kZu dhft,A
Describe the various methods of preparing Cash Budget.

OR

5000 bdkb;ksa ds {kerk Lrj ij ,d oLrq dh ykxr fuEu gS %
The cost of an article at a capacity of 5000 units is given below :

#- (Rs.)

lkexzh ykxr (Material Cost) 40]000
Je ykxr (Labour Cost) 24]000
'kfä (Power 80%ifjorZu'khy 80% Variable½ 2]000
ejEer ,oa j[k j[kko ¼25% LFkk;h½ 3]200
Repairs and Maintenance (25% Fixed)

LVkslZ ¼100% ifjorZu'khy O;;½ 1]600
Stores (100% Flexible Expense)

fujh{k.k ¼20% ifjorZu'khy½ 800
Inspection (20% Variable)

gzkl (Depreciation) 16]000
iz'kklfud O;; ¼25% ifjorZu'khy½ 8]000
Administrative Exp. (25% Flexible)

foØ; O;; ¼50% ifjorZu'khy½ 4]800
Selling Exp. (50% Flexible)

4]000 ,oa 6]000 bdkb;ksa ds fy;s mRiknu dh bdkbZ ykxr Kkr dhft;sA
Find the unit cost of the product at production level of 4,000 and 6,000

units.

---x---
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ç'u 6- lhekar ykxr fof/k vkSj vo'kks"k.k ykxr fof/k ds e/; eq[; varj D;k gSa\
What is the main difference between marginal costing and absorption

costing?

ç'u 7- ctV dk vk'k; D;k gS \
What is meant by Budget?

ç'u 8- yksp ds vk/kkj ij ctV dk oxhZdj.k dhft, A
Classify budgets on the basis of flexibility.

ç'u 9- izeki ykxr fof/k D;k gS \
What is standard costing?

ç'u 10-okLrfod ykxr vkSj izeki ykxr ds e/; varj dks D;k dgrs gSa \
What is the difference between actual cost and standard cost known as?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word

limit 150-200                                                                                               (5x5=25)

ç'u 1- fu.kZ;u esa izca/kdh; ys[kkadu dk egRo le>kb;s A
Explain the role of management accounting in decision making.

OR

fuEu lwpukvksa ls ldy ykHk vuqikr dh x.kuk dhft, A
Compute Gross Profit Ratio from the following informations.

#-¼Rs.½
v½ dqy foØ; ¼Total Sales½ 2]60]000

foØ; okilh ¼Sales Returns½ 10]000
foØ; eky ykxr ¼Cost of Net Goods Sold½ 2]00]000

c½ Ø; ¼Purchases½ 6]90]000
izkjafEHkd Lda/k ¼Opening Stock½ 70]000
vfUre Lda/k ¼Closing Stock½ 1]20]000
m/kkj foØ; ¼Credit Sales½ 6]00]000
jksdM+ foØ; 25% dqy foØ; dk
¼Cash Sales 25% of Total Sales½
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le foPNsn fcUnq ij fuEu ds izHkko dk vuqkeu yxkb;s %&
Estimate the impact of the following on B.E.P :-

(A) LFkk;h ykxr esa 20% dh òf)
20 % increase in fixed cost

(B) ifjorZu'khy ykxr esa 20% dh òf)
20 % increase in variable cost

(C) LFkk;h ykxr esa 20% dh o`f) rFkk ifjorZu ykxr esa 20% dh deh
20% increase in fixed cost and 20%  decrease in variable cost.

(D) LFkk;h ykxr esa 20% dh deh rFkk ifjorZu'khy ykxr esa 20% dh
o`f)
20% decrease in fixed cost and 20%  increase in variable cost.

ç'u 4- lhekar ykxr fof/k ls vki D;k le>rs gSa\ blds xq.k nks"kksa dk o.kZu
dhft,A
What do you understand by Marginal Costing? Explain its merits and

demerits.

OR

fdlh oLrq ds mRiknu esa izfr bdkbZ izeki lkexzh rFkk izeki ewY;
fuEukuqlkj gS %
The standard quantity of material per unit and standard price for producing

an item are as follows :

fooj.k Particulars ek=k (Units in Kg.) nj #- Rate (Rs.)

lkexzh Material - x               5     @ 3/- per Kg.

lkexzh Material - y             10     @ 2/- per Kg.

500 bdkb;ksa ds mRiknu esa iz;qDr lkexzh dh okLrfod ek=k ,oa ykxr
fuEukuqlkj gS %

The actual quantity of material consumed and its cost for producing 500

units are as under :

fooj.k Particulars ek=k (Units in Kg.)   jkf'k #- Amount (Rs.)

lkexzh Material - x          2800  8680

lkexzh Material - y          4800 10560
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ç'u 2- dk;Z'khy iwath esa ifjoRkZu dk fooj.k D;k gS \
What is statement of changes in working capital?

OR

jksdM+ izokg fooj.k vkSj dks"k izokg fooj.k esa D;k varj gS \
What is the difference between cash flow statement and fund flow

statement?

ç'u 3- lhekar ykxr ys[kkadu dk egRo crykb;s A
Write the importance of Marginal Costing.

OR

le foPNsn fcUnq dh #i;ksa esa x.kuk dhft, A
Calculate Break-even point in rupees.

o"kZ ¼Year½     izFke o"kZ ¼I Year½      f}rh; ¼II Year½
      #- (Rs.) #- (Rs.)

foØ; ¼Sales½ 80]000 90]000
YkkHk ¼Profit½ 10]000 14]000

ç'u 4- ctV ds mís';ksa dks crkb;s A
Discuss the objects of Budget.

OR

fLFkj ctV vkSj ykspnkj ctV esa D;k varj gS \
What is the difference between fixed budget and flexible budget?

ç'u 5- fopj.k fo'ys"k.k ds izca/kdh; mi;ksx crkb;s A
Discuss the managerial uses of variance analysis.

OR

izeki ykxr fof/k dh eq[; lhek,¡ D;k gSa \
What are the main limitations of standard costing?

¼2½ o"kZ 2016&17 esa ,d e'khu 4]000 :- esa csph xbZA bldh ykxr
6]000 :- Fkh vkSj bl ij 3]500 :- gzkl dkVk tk pqdk FkkA

A machinery was sold for Rs. 4,000 during the year 2016-17. It had

cost Rs. 6,000 and depreciation Rs. 3,500 had been provided on it.

Q.M izokg fooj.k cukb;sA
Prepere funds flow statement.

ç'u 3- fuEufyf[kr lwpuk ls ¼v½ vo'kks"k.k ykxr fof/k rFkk ¼c½ lhekar ykxr
fof/k ds vUrxZr ykHk dh x.kuk dhft, %&
From the following information find out profit by (a) Absorption costing

and (b) Marginal costing method %&

fooj.k Particulars    jkf'k (Amount)

izR;{k lkexzh (Direct material) 30]000
etnwjh (Wages) 22]000
ifjorZu'khy dkj[kkuk O;; (Variable factory Exp.) 4]000
LFkk;h dkj[kkuk O;; (Fixed factory Exp.) 8]000
iz'kklfud O;; ¼20% ifjorZu'khy½ 6]000
Administration Exp. (20% Variable)

foØ; O;; ¼60% ifjorZu'khy½ 10]000
Selling Exp. (60%Variable)

foØ;(Sales) 1]00]000

OR

,d dkj[kkus ds vfHkys[kksa ls le&foPNsn fcUnq ¼:i;ksa esa½ x.kuk dhft,%
From a factory records, calculate B.E.P. (in rupees) :

                       #- (Rs.)

LFkk;h O;; ¼Fixed Cost½ 20]000
foØ; ewY; izfr fdxzk- (Selling Price per kg.)    20
ifjorZu'khy ykxr izfr fdxzk- (Variable cost per kg.)    15
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Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with

word limit 300-350                                                                              (8x5=40)

ç'u 1- izca/kdh; ys[kkadu ls vki D;k le>rs gSa \ blds egRo ,oa vko';drk
dh O;k[;k dhft, A
What do you understand by management accounting? Explain its

importance and need.

OR

31 ekpZ 2017 dks lekIr gksus okys o"kZ dk t;Jh fyfeVsM dh tkudkjh
fuEu izdkj gS %&
Following is the Account of Jayshri Ltd. for the year ending on 31st

March 2017.

#-¼Rs.½
Lda/k ¼Stock½ 35]000
Ø; ¼Purchases½ 2]25]000
etnwjh ¼Wages½ 6]000
foØ; ¼Sales½ 4]00]000
iz'kklfud O;; ¼Administration Exp.½ 10]000
foØ; ,oa forj.k O;; ¼Selling and Distribution Exp.½ 14]000
la;= ds foØ; ij gkfu ¼Loss on sale of Plant½ 10]000
vfUre Lda/k ¼Closing Stock½ 50]000

fuEu vuqikrksa dh x.kuk dhft, %&
v½ ldy ykHk vuqikr ¼Gross Profit Ratio½
c½ 'kq) ykHk vuqikr ¼Net Profit Ratio½
l½ lapkyu vuqikr ¼Operating Ratio½
n½ 'kq) lapkyu ykHk vuqikr ¼Net Operating Profit Ratio½

ç'u 2- jksdM+ izokg fooj.k D;k gS \ blds egRo dh foospuk dhft, A
What is cash flow statement? Explain its importance.

OR

lksuy dEiuh dk 31 ekpZ 2016 o ekpZ 2017 ds fpës fuEu izdkj gS %
fooj.k 31 ekpZ %
The balance sheets of Sonal Company on 31st March 2016 and March

2017 are as under :

fooj.k (Particulars)     31 ekpZ   ekpZ
  ¼March½2016 ¼March½2017

lerk ,oa nkf;Ÿo (Equity & Liabilities) #- (Rs.) #- (Rs.)

va'k iw¡th (Share capital) 2]50]000 3]50]000
lap; ,oa vf/kD; (Reserves and Surplus)

ykHk gkfu fooj.k (Statement of P & L) 50]000 80]000
lkekU; lap; (General Reserve) 25]000 35]000
py nkf;Ÿo (Current liabilities) :-

fofo/k ysunkj (Sundry Creditors) 76]500 95]000
ns; foi= (Bills Payable) 20]000 25]000
vnŸk O;; (Outstanding Exp.) 3]500 2]500
;ksx (Total) 4]25]000 5]87]500
lEifŸk;k¡ (Assets)

LFkk;h lEifŸk (Fixed Assets)

Hkou (Buildings) 40]000 60]000
la;= ,oa e'khujh (Plant & Machinery) 2]50]000 4]00]000
py lEifŸk (Current Assets)

Lda/k (Inventories) 50]000 37]500
nsunkj (Debtors) 75]000 80]000
jksdM+ (Cash) 10]000 10]000

4]25]000 5]87]500
vfrfjDr lwpuk,¡ %
Additional Information :

¼1½ o"kZ 2016&17 esa Iyk.V rFkk e'khu ij 25]000 :- gzkl yxk;k x;k gSaA
Rs. 25,000 Depreciation has been charged on plant and machinery

during the year 2016-17.
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